50, will be treated as malpractice.
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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remainin
2. Any revealing of identification, appeal to evaluator and /or equations written eg,

USN
Time:
r=a.
b.
c.
d.
2
b.
S -a
b.
e

(2]
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a.

b.

- State’the codal requiremé

3 hrs. ax. Marks:100
Note: 1. Answer any FI VE Jull questions, selegtmg

at least T. Wé "“full questions from e

2. Use o[ S4

(05 Marks)

(05 Marks)
What are the Value§ oads (DL and IL) with respect to limit state
of service ab1hty'7 (05 Marks)

State the odal ‘provisions for “Other L1m1t States (05 Marks)

(09 Marks)
Ommi. Calcuiate the
are, usec with an effective
(11 Marks)

resistance of the beam , '
A T-beamn of denth SU()mrfih and width of rib 300 iy has fia nge Su0
moment of resistance if$ humbers 25mm di Fe415 steel bars

cover of 60mm, M20 concrete is used.

ty” as per codal requirements.
(05 Marks)

What is the minimum grade of plam‘ oncrete, reinfof ed concrete and minimum cover to
reinforcefment when the exposuréw”i%*v “severe”. y (05 Marks)
i Jcodal provisions when deflection is
calculated. y (05 Marks)
4 rackmg” in flexural members. (05 Marks)

r forcement fora R €. beam 300 x 450mm to carry a udl of 25kN/m
fi)e beam is supported on a 400mm tthk wall at the ends. Use M20
1 (20 Marks)

Désign the necessa

Explain the structural behaviour of one way and two way slabs? (04 Marks)
Design an R.C. slab for th followmg data:

Ly=7500mm Lx = 3000mm

Simply supported on four sides

L.L = 4 kN/m* F.F's 1kN/m?

M.20 concrete,’ Fig415 steel

Sketch the details of reinforcement (Plan). (16 Marks)
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Explain the terms “short” and “‘slender” compresswn mem ers. (04 Marks)
Design the necessary reinforcement for a R.C. ”m fin 400mm x 600mm and of length
3000mm to carry an axial load of 1800kN. M20. con rete and Fe415 steel Sketch the details.
(16 Marks)

Design a R.C. footing for an R.C. colunin 80 x 500mm to carry artvéXjal load of 1200kN.
Allowable bearing pressure on soil is- 0 N/m?. Use M20 concrete Fe415 steel. Sketch the
details of reinforcement. A (20 Marks)

Design an intermediate ﬂlght of

a@dog legged stair for a hall 240m x 4.75m. Floor to floor
height is 3520mm. Take L.L as;g;**kN/m and finishes = 0 6/kN/m?>. Assume langings span in
the direction of stair. Thes gb is supported on 230 * hlck masonry walls at ends. Sketch
the details. (20 Marks)
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